Challenger ezm

VACUUM PUMPS & BLOWERS

Contents | Section B

Battioni Pagani Pumps & Pump Packages

Battioni Pagaini 2000 - 4000 Brochure B.1.1 %
Battioni Pagaini Package Guide B.1.5 Q,,
Battioni & Pagani MEC 2000 - 4000 Pump Pricing " B.1.6 5
Battioni & Pagani MEC 2000 - 4000 Repair Kits and Maintenance ltems Prlcmg ........................... B.1.6 =
Battioni & Pagani MEC 2000 - 4000 Pump Stand Complete Pricing B.1.7 E
Battioni & Pagani MEC 2000 Engine Drive Package Pricing .... B.1.7 0
Battioni & Pagani MEC 2000 - 4000 Pump Parts Diagram ..... B.1.8 8
Battioni & Pagani MEC 2000 - 4000 Pumps Parts List ............ B.1.9 8
Battioni MEC 2000/540-3000/540-4000/540 Parts Diagram .B.1.10 a.

Battioni MEC 2000-3000-4000 Gear-Type Lubrication System Parts Diagram & Parts List.......... B.1.11
Battioni MEC 2000-3000-4000 Automatic Lubrication System Parts Diagram & Parts List......... B.1.12

Battioni Pagaini 5000 - 6500 - 8000 Brochure B.2.1
Battioni Pagaini Package Guide B.2.5
Battioni & Pagani MEC 5000 - 6500 - 8000 PUMP PIICING ......ccceorrrrnmrrsmnsisssssssssssssssnsssssssssssssnsanss B.2.6
Battioni & Pagani MEC 5000 - 6500 - 8000 Repair Kits and Maintenance Items Pricing.............. B.2.6
Battioni & Pagani MEC 5000 - 6500 Pump Stand Complete PriCing.........cccoererernsesesesesesessnsesesesenens B.2.7
Battioni & Pagani MEC 5000 & 8000 Muffler Pak Pricing B.2.7
Battioni & Pagani MEC 5000 & 8000 Max Pak Pricing B.2.7
Battioni & Pagani MEC 5000 - 6500 - 8000 Pump Parts Diagram B.2.8
Battioni & Pagani MEC 5000 - 6500 - 8000 Pumps Parts List B.2.9
Battioni MEC 5000 - 6500 - 8000 Gear-Type Lubrication System Parts Dlagram & Parts List......B.2.11
Battioni MEC 5000 Automatic Lubrication System Parts Diagram & Parts LiSt.........cccorerrrsscsnnenens B.2.12
Battioni MEC 6500 - 8000 Automatic Lubrication System Parts Diagram & Parts List..........ccce.... B.2.13
Battioni Pagaini 9000 & 11000 Brochure B.3.1
Battioni Pagaini Package Guide ....... B.3.5
Battioni & Pagani MEC 9000 & 11000 Pump Pricing B.3.6
Battioni & Pagani MEC 9000 & 11000 Repair Kits and Maintenance Iltems Pricing ..........ccceceuene B.3.6
Battioni & Pagani MEC 9000 & 11000 Pump Stand Complete Pricing B.3.7
Battioni & Pagani MEC 9000 & 11000 Muffler Pak Pricing .B.3.7
Battioni & Pagani MEC 9000 & 11000 Pump Parts Diagram .........c.cecvrsemseseseseressssssssesssessssssssssssesns B.3.8
Battioni & Pagani MEC 9000 & 11000 Pumps Parts List B.3.9

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.1.1



NVE

natvac.com

B.1.2 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



NVE

A Partnership for:Success

Battioni®
Pagani
Pompe

&

Battioni Pagani

MIRS)

VACUUM / PRESSURE 2L
MEC 2000 - 4000

Challenger

* TEAM

National Vacuum Equipment Arkansas Distribution Center
P.O. Box 685 1612 Warehouse Drive

Traverse City, Ml 49685 USA Fayetteville, AR 72701

800-253-5500 | sales@natvac.com 479-409-7331, 479-409-6748 | Fax 479-444-8211

hatvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.1.3



Battioni Pagani Pumps
|

Battioni Pagani, S.p.A., of Sorbolo, Italy, is the world’s largest volume manufacturer of rotary vane vacuum pumps for liquid waste

handling applications. They have been able to achieve this stature by producing well-designed, precisely-machined, and carefully

assembled products which have gained a worldwide reputation for rugged reliability.

MEC 2000 Specifications
RPM Range 800-1400
Maximum Air Flow-CFM 90
Maximum Intermittent Vacuum 27
Maximum Intermittent Pressure 30
Pump Drive Rotation CW/CCW
Porting Size Flanged NPT 2"
Manifold With Four Way Valve Standard
Bearings Sealed From Pump Interior Standard
Anti-Spin Check Valve Standard
Automatic Lubrication System Optional
0Oil Tank Capacity-Quarts 1 M EC 2000
Net Weight 156 1bs Dimensions: 13" W x 31.5/8" Lx 27 3/4" H
Shaft Size: 30 mm
MEC 2000 Flow Data
FREE
OPERATING SPECS PRESSURE (PSI) FLOW VACUUM (INCHES OF MERCURY)
RPM UOM 30 25 20 15 10 5 0 3 6 9 12 15 18 21 24 27
1400 HP 12 11 9 8 6 4 3 4 4 4 4 5 5 5 6 6
CFM 67 70 73 76 80 | 85 90 88 87 86 84 80 77 71 64 42
1200 HP 11 9 8 6 5 3 2 3 3 3 3 4 4 4 5 5
CFM 54 57 61 66 68 | 72 75 74 72 70 68 64 60 54 40 30
1000 HP 9 8 6 5 4 3 2 2 2 2 3 3 3 4 4 4
CFM 41 44 48 51 55 | 58 63 62 60 58 56 54 48 42 30 20

The maximum allowable operating vacuum will vary depending on R.P.M., ambient temperature, altitude and time running. The basic principle to keep
in mind is - faster R.P.M., higher air temperature and longer run time all equal more heat in the pump. When installing a MEC 2000 we recommend a
normal R.P.M. of 1000.

MEC 4000 Specifications
RPM Range 800-1400
Maximum Air Flow-CFM 145
Maximum Intermittent Vacuum 27
Maximum Intermittent Pressure 30
Pump Drive Rotation CW/CCW
Porting Size Flanged NPT 2"
Manifold With Four Way Valve Standard
Bearings Sealed From Pump Interior Standard
Anti-Spin Check Valve Standard
Automatic Lubrication System Optional M EC 4000
0Oil Tank Capacity-Quarts 1 1/2 Dimensions: 13" Wx 31 5/8” L x 27 3/4” H
Net Weight 209 Ibs Shaft Size: 30 mm
FREE
OPERATING SPECS PRESSURE (PSI) FLOW VACUUM (INCHES OF MERCURY)
RPM UoM 30 25 20 15 10 5 0 3 6 9 12 15 18 21 24 27
1400 HP 23 20 18 15 12 9 6 7 7 8 8 8 9 9 9 10
CFM 118 122 125 130 133 | 138 145 143 140 138 134 131 128 120 110 90
1200 HP 19 17 15 12 10 7 5 5 6 6 6 6 7 7 8 8
CFM 102 106 109 111 116 | 120 128 125 123 120 117 115 110 100 90 75
1000 HP 15 14 12 10 8 6 4 4 4 4 5 5 6 6 6 7
CFM 81 83 85 90 95 100 108 105 102 100 96 92 85 80 68 45

The maximum allowable operating vacuum will vary depending on R.P.M., ambient temperature, altitude and time running. The basic principle to keep
in mind is - faster R.P.M., higher air temperature and longer run time all equal more heat in the pump. When installing a MEC 2000 we recommend a
normal R.P.M. of 1200.

|
B.1.4 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



Battioni Pagani Pumps and Packages

Check out our competent design and engineering staff, our state of the art fabrication facility and quality powder coat painting
capabilities all wrapped up in our unique pump packages. These rugged and functional packages are designed to reduce installation
time, ensure appropriate sized drive systems and vacuum system components, and provide accessible maintenance points. If you

don’t see what you are looking for, be sure to contact your NVE representative... We Can Do That!

VACUUM PUMP INCLUDED. Specify direction of rotation, cooling type and muffler location (right or left). All elbows, fittings and high temp hoses are factory connected.

MEC 2000 & 4000 Pump Stand Complete

* 200 series three-shaft gearbox accommodates CW rotation
¢ Coupler set with shear protection

* Rugged 3/8” construction, powder coat painted pump stand
» Easy-align, adjustable gearbox bracket

MEC 2000 & 4000 Muffler Pak

All features included in the Pump Stand Complete plus:
* Compact design square oil catch muffler

* Effective baffle system

* Stainless steel mesh filter

* Drain valve

* All elbows, fittings and high temp hoses are factory connected

MEC 2000 & 4000 MAX Pak

All features included in the Muffler Pak plus:
* High efficiency aluminum moisture trap

* Accessible stainless steel floatball

¢ BUNA positive shut-off ball seat

* Drain valve

* Blind intake flange standard (other fittings available)
* Vacuum/pressure relief valve and gauge

MEC 2000 Engine Drive Package

Package includes:
* Electric Start 8 HP Honda Engine
* Deep Cycle Heavy Duty Battery
* Engine Frame for MEC 2000
* Durable Powder Coated Paint Finish
¢ 1-2 Hour Installation
* Reduces labor Costs
* Increase Your Capacity

NVE 2013 Product Catalog | Rev. 7-4

Call for quantity pricing. | B.1.5



Challenger ex

S

VACUUM PUMPS & BLOWERS

We design, build and service the best pumps and packages on the planet... And we do it in the USA.

For over 25 years NVE has been providing quality vacuum
system components to the liquid waste markets. From design,
to development to product support, NVE IS the industry leader.

In addition to our team of engineers and highly qualified support
staff, NVE has a state-of-the-art machine shop, fabrication shop,
and powder coat paint facility housed in two plants in Traverse City,
Michigan. We also have a warehouse and sales support facility in
Fayetteville Arkansas.

Battioni®
Pagani
Pompe

|\

DISTRIBUTED BY:

NVE

National Vacuum Equipment

P.O. Box 685 | Traverse City, Ml 49685 USA
231.941.0215 Phone | 231.941.2354 Fax

sales@natvac.com 800.253.5500

www.natvac.com

©2013 National Vacuum Equipment, Inc. | 2/2013

B.1.6 | Call for quantity pricing.

For questions and additional information please contact your dealer
or NVE direct at 800.253.5500.

Thank you,

NVE

National Vacuum Equipment

NVE 2013 Product Catalog | Rev. 7-4



J

Challenger eem

VACUUM PUMPS & BLOWERS

BATTIONI MEC 2000-4000 SERIES 1 —_
PACKAGE GUIDE 4707

MEC 2000 & Y000 PUMIP STAND COMPLETE j%ﬂg;

30.88

1 300-2000ALS1 MEC 2000 Pump Stand Complete - ‘E%
1 300-4000ALS1 MEC 4000 Pump Stand Complete A

i 300-4000PALS ;

a0 :{Cj&f

I

29.50

14.75

MEC 2000 & Y000 MUFFLER PACKAGE

O 300-2000ALS2  MEC 2000 Muffler Package %ﬁ
3 300-4000PALS2  MEC 4000 Muffler Package o i
30.88 i

19.00 |CPAL)
20.00 19.50 A &

MEC 2000 & HYO00 MAX PACKAGE

J 300-2000ALS3 MEC 2000 Max Package
J 300-4000PALS3  MEC 4000 Max Package —

J 300-2000EDR1 MEC 2000, 8 HP Honda Engine Drive Package

[ 20.50

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.1.7



Battioni Pagani | MEC 2000 - 4000

NVE

MEC 2000 | Vacuum Pumps
PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 2000 - Auto Lube CCW 300-2000PALS 156

MEC 4000 | Vacuum Pumps

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 4000 - Auto Lube CCW 300-4000PALS 209

MEC 2000 Repair Kits and Maintenance Iltems

PRODUCT DESCRIPTION PART NUMBER WEIGHT
Repair Kit - MEC 2000/P 305-0MO-P

Repair Kit - MEC 2000/P (Less Bearings) 305-0MO-P-B 1.85
Repair Kit - MEC 2000/540 305-0M0O 2.3
Repair Kit - MEC 2000/540 (Less Bearings) 305-0M0-B 1.85

MEC 4000 | Repair Kits and Maintenance Items

PRODUCT DESCRIPTION PART NUMBER WEIGHT
Repair Kit - MEC 4000 305-MECO-P 4.5
Repair Kit - MEC 4000 (Less Bearings) 305-MECO-P-B 3.7
Repair Kit - MEC 4000/540 305-MECO 5.75
Repair Kit - MEC 4000/540 (Less Bearings) 305-MECO-B 5.3

NOTE: Call for repair kits not listed.

Photos and illustrations for references only.

P ———————————

natvac.com

B.1.8 | Call for quantity pricing.

NVE 2013 Product Catalog | Rev. 7-4



Challenger ez

VACUUM PUMPS & BLOWERS

Package price includes counter clockwise vacuum pump. All elbows, fittings and high temp hoses are factory connected.

MEC 2000 & 4000 | Pump Stand Complete

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 2000 Pump Stand Complete 300-2000ALS1 ---
MEC 4000 Pump Stand Complete 300-4000ALS1 ---

MEC 2000 & 4000 | Muffler Package

000% - 000Z DA | Iueded ruomeg

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 2000 Muffler Package 300-2000ALS2 ---
MEC 4000 Muffler Package 300-4000ALS2 ---

MEC 2000 & 4000 | MAX Package

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 2000 Max Package 300-2000ALS3 ---
MEC 4000 Max Package 300-4000ALS3 ---

MEC 2000 | Engine Drive Packages

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 2000 Engine Drive W/8 HP Honda Engine 300-2000EDR1 ---

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.1.9



=)
S
=)
<
=)
S
=)
N
Q
=
=
=
s
)
©
A
‘g
_Fi
s
aa]

NVE

Parts Diagram

MEC 2000 - MEC 4000

Photos and illustrations for references only.

natvac.com

B.1.10 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



Challenger ez

VACUUM PUMPS & BLOWERS

o
MEC 2000 - MEC 4000 | Parts List "E’
ITEM PART NUMBER DESCRIPTION WEIGHT Q.
1 310-M34 BOLT (M8X25) -— E'
2 310-M50 WASHER -—- ;?
)
3 310-mM48 BEARING COVER PLATE - g
4 310-AM10 GASKET .05 :
5 310-AM49 GREASE FITTING, M10X1 - 3
6 310-M19 BOLT, M6X30 —- 32
7 310-M20 WASHER 6 —— N
8 310-AM53 SEAL 35X52X10 -——- 8
9 310-M16 BOLT M10X30 -— .o
10 310-M17 WASHER 10 — g
11 310-M12 BEARING MEC 2000/540 S
12 310-M18 SEAL 40X52X7 -——- =
13 310-M3 ENDPLATE, 2000-4000 -—
14 310-M4 GASKET, END PLATE -
15 310-AM52 KEY 8X7X50 N
16 310-M5/P ROTOR, MEC 2000 38
310-ME5/P ROTOR, MEC 3000 50
310-MEC5/P ROTOR, MEC 4000 -—=
17 310-M7 VANE, MEC 2000 .15
310-ME7 VANE, MEC 3000 .15
310-MEC7 VANE, MEC 4000 .10
18 310-mM1 HOUSING, MEC 2000 -
310-MEC1 HOUSING, MEC 4000 85
19 310-M35 WASHER 8 -
20 310-M63 FLANGE TYPE B MANIFOLD .10
21 310-M66 BOLT M8X40 -
22 310-M83 2” HOSE CONNECTION AIR HORN 2.0 2.10
23 310-M64 O-RING .01
24 310-AM68 4-WAY VALVE, COVER GASKET -
25 310-M65 4-WAY VALVE, COVER -
26 310-M40 SEAL 25X35X7 -——=
27 310-M11 BOLT M8X20 -
28 310-AM60 4-WAY VALVE, HANDLE -
29 310-M45 SPRING .05
30 310-M62 4-WAY VALVE, PLUG 1.75
31 310-M67 4-WAY VALVE, HOUSING TYPE B MANIFOLD -
32 310-M41 NON-RETURN BALL 55MM .20
33 310-M10 DIPSTICK (.55MM) .05
34 310-M39 GASKET .02

NVE 2013 Product Catalog | Rev. 7-4

natvac.com

Call for quantity pricing. | B.1.11




=)
S
=)
<+
=)
S
=)
Q
)
=
=
=
&
)
<
A
=
£
s
aa]

NVE

MEC 2000/540 - 3000/540 - 4000/540

Parts Diagram

natvac.com

MEC 2000/540 - 3000/540 - 4000/540 | Parts List

ITEM PART NUMBER DESCRIPTION WEIGHT
1 310-M43 PTO GUARD R
2 310-M29 GEARBOX FRONT COVER -—
3 310-M28 GASKET -
4 310-M27 SEAL35X 62X 10 -
5 310-M12 BEARING -—
6 310-M26 GEAR -
7 310-M25 BEARING -
8 310-M2 GEAR CASING 20.75
9 310-M24 WASHER 10X16 -—
10 310-M23 DRAIN PLUG -—-
11 310-M4 GASKET .01
12 310-M5/M ROTOR, MEC 2000/540 -—-

310-ME5/M ROTOR, MEC 3000/540 -—-

310-MEC5/M ROTOR, MEC 4000/540 -—-
13 310-M7 VANE, MEC 2000 .15

310-ME7 VANE, MEC 3000 15

310-MEC7 VANE, MEC 4000 .10
14 310-M6 KEY 6 X 6 X 25 -—-
15 310-M21 OIL FILL PLUG ——
16 310-M18 SEAL 40X52X7 -—
17 310-M17 WASHER 10 -—
18 310-M16 BOLT M10X30 -—-
19 310-M33 GEAR —
20 310-M32 LOCK NUT, M24 X 2 -—
21 310-M30 PLUG .01
22 310-M35 WASHER 8 -—
23 310-M34 BOLT M8 X 25 -

Photos and illustrations for references only.

B.1.12 | Call for quantity pricing.

NVE 2013 Product Catalog | Rev. 7-4



Challenger ez

VACUUM PUMPS & BLOWERS

MEC 2000 - 3000 - 4000 Gear-Type Lubrication System | Parts Diagram

14

12

MEC 2000 - 3000 - 4000 Gear-Type Lubrication System | Parts List

ITEM PART NUMBER DESCRIPTION WEIGHT
1 320-A13 GASKET —
2 320-LF8 DRIVE TAB .03
3 320-LF7 OIL PUMP HOUSING 54
4 320-LF17 FITTING M6X1 01
5 320-LF3 DRIVE GEAR .10
6 320-LF4 DRIVEN GEAR .06
7 310-LF2 COVERPLATE GASKET .01
8 320-LF1 COVERPLATE .05
9 320-LP6 BOLT —=
10 320-LF15 HOSE (5MM X 10.5MM X 6.75MM) .05
11 320-LF13 FITTING, HOUSING OIL RESERVOIR .01
12 320-LF20 HOSE (5MM X 10.5MM X 18.5MM) .05
13 320-LF12 DRIPPER, T-TYPE CW .25

320-LF12CCW DRIPPER, V-TYPE CCW -——-
14 320-LF19 HOSE (5MM X 10.5MM X 8.5MM) .05

natvac.com

NVE 2013 Product Catalog | Rev. 7-4

Call for quantity pricing. | B.1.13

000% - 000Z DI | 1ueSed ruomeg




NVE

MEC 2000 - 3000 - 4000 Automatic Lubrication System | Parts Diagram

=
S
S
=
=
S
S
Q
Q
=
=
E
&
A
‘g
'E
=
5

MEC 2000 - 3000 - 4000 Automatic Lubrication System | Parts List

ITEM  PARTNUMBER DESCRIPTION WEIGHT
1 310-AM13 GASKET 01
2 310-AM49 FITTING, GREASE ZERK M10 X 1 02
3 320-LW32CD PISTON LUBRICATOR - SINGLE OUTLET CW 1.32

320-LW32CS PISTON LUBRICATOR - SINGLE OUTLET CCW 1.3
4 320-R36 FITTING 01
5 320-R3 FITTING 01
6 320-R37 FITTING .03
7 320-R34 BOLT ——
8 320-LA13 HOSE (2MM X 4MM X 18.5MM) 01
9 320-LA11 HOSE (2MM X 6MM X 9.5MM) 01
10 320-R15 FITTING o1
11 320-R46 FITTING 05
12 320-LF8 DRIVE TAB .03
13 310-LA1 BEARING COVER -
14 320-R31 GASKET 01
15 320-R33 WASHER ——

Photos and illustrations for references only.

natvac.com

B.1.14 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



Challenger eem

VACUUM PUMPS & BLOWERS

000% - 000Z DA | Tueded ruomeg

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.1.15



NVE

natvac.com

B.1.16 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



ﬁ—_)

NVE

A Partnership Success
COMMEREIAL BTV

Battioni Pagani

VACUUM #PRESSUREIRY M RS

Battioni®
Pagani
Pompe

Eiﬁ

ﬂﬂ

MEC 5000 - 6500 - 8000

Challenger

* TEAM

National Vacuum Equipment Arkansas Distribution Center

P.0. Box 685 1612 Warehouse Drive

Traverse City, Ml 49685 USA Fayetteville, AR 72701

800-253-5500 | sales@natvac.com 479-409-7331, 479-409-6748 | Fax 479-444-8211

hatvac.com



Battioni Pagani Pumps

Battioni Pagani, S.p.A., of Sorbolo, Italy, is the world’s largest volume manufacturer of rotary vane vacuum pumps for liquid waste
handling applications. They have been able to achieve this stature by producing well-designed, precisely-machined, and carefully
assembled products which have gained a worldwide reputation for rugged reliability.

MEC 5000 Specifications ME C 50 0 0
Porting Size Flanged NPT 3” Dimensions: 15.5” W x 22" Lx 20" H
Maximum Air Flow-CFM 195 Shaft Size: 32 mm
Maximum Intermittent Vacuum 27" hg
Maximum Intermittent Pressure 30 psi
Net Weight 253 lbs
OPERATING FREE
SPECS PRESSURE (PSI) FLOW VACUUM (INCHES OF MERCURY)
RPM uom 30 25 20 15 10 5 0 3 6 9 12 15 18 21 24 27
1400 HP 28 24 21 17 14 12 7 7 7 8 9 10 11 12 13 14
CFM 154 158 166 172 180 187 195 192 190 185 180 175 165 155 140 115
1200 HP 24 20 17 15 13 8 5 6 6 7 7 8 9 10 11 12
CFM 128 132 138 144 150 158 165 162 160 156 152 148 140 130 115 85
1000 HP 19 17 14 12 9 6 3 4 4 5 6 7 7 8 9 9
CFM 98 106 112 117 124 130 138 135 130 126 121 116 110 98 84 50

MEC 6500 Specifications
Porting Size Flanged NPT 3" M EC 6500
Maximum Air Flow-CFM 250 Dimensions: 15.5” W x 25” L x 20" H
Maximum Intermittent Vacuum 27" hg Shaft Size: 32 mm
Maximum Intermittent Pressure 30 psi
Net Weight 268 Ibs
OPSESQJ'SNG PRESSURE (PSI) leoEva VACUUM (INCHES OF MERCURY)
RPM uom 30 25 20 15 10 5 0 3 6 9 12 15 18 21 24 27
HP 34 30 27 22 18 13 10 10 11 11 12 12 13 13 14 15
1400 CFM 220 | 224 | 228 | 232 | 237 | 242 250 | 248 | 246 | 244 | 240 | 236 | 230 | 220 | 205 | 180
HP 28 26 22 18 14 12 8 8 9 9 10 11 11 12 12 13
1200 CFM 184 | 188 | 192 | 197 | 204 | 212 220 | 218 | 216 | 214 | 210 | 202 | 196 | 185 | 175 | 145
HP 24 22 18 15 15 8 6 6 7 7 8 8 9 10 10 11
1000 CFM 152 156 160 163 167 170 180 177 172 170 167 162 158 150 140 110

MEC 8000 Specifications ME C 8 O 0 0
Porting Size Flanged NPT 37 Dimensions: 15.5” W x 28” L x 20" H
Maximum Air Flow-CFM 285 Shaft Size: 32 mm
Maximum Intermittent Vacuum 27" hg
Maximum Intermittent Pressure 30 psi
Net Weight 3211bs
OPERATING FREE
SPECS PRESSURE (PSI) FLOW VACUUM (INCHES OF MERCURY)
RPM uom 30 25 20 15 10 5 (0] 3 6 9 12 15 18 21 24 27
1400 HP 42 37 33 27 22 17 12 12 13 14 15 17 18 19 20 21
CFM 248 | 251 | 255 | 260 | 268 | 278 285 282 | 280 | 277 | 271 | 265 | 258 | 242 | 220 | 180
1900 HP 35 32 28 22 16 12 8 9 10 11 11 12 13 14 15 16
CFM 206 | 210 | 214 | 220 | 230 | 237 245 243 | 240 | 236 | 230 | 225 | 218 | 200 | 180 | 150
1000 HP 29 25 21 17 13 9 6 6 7 7 8 9 10 11 12 13
CFM 168 173 178 183 190 195 200 205 200 192 186 180 170 158 146 100

The maximum allowable operating vacuum will vary depending on R.P.M., ambient temperature, altitude and time running. The basic
principle to keep in mind is - faster R.P.M., higher air temperature and longer run time all equal more heat in the pump. When installing a
MEC 5000, MEC 6500 and MEC 8000 we recommend a normal R.P.M. of 1200.

B.2.2 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



Battioni Pagani Pumps and Packages

Check out our competent design and engineering staff, our state of the art fabrication facility and quality powder coat painting
capabilities all wrapped up in our unique pump packages. Each package is built around our quality Challenger vacuum pumps.
These rugged and functional packages are designed to reduce installation time, ensure appropriate sized drive systems and
vacuum system components, and provide accessible maintenance points. If you don’t see what you are looking for, be sure to
contact your NVE representative... We Can Do That!

Package price includes counter clockwise vacuum pump. All elbows, fittings and high temp hoses are factory connected.

MEC 5000 & 8000 Pump Stand Complete

* 200 series three-shaft gearbox accommodates CCW rotation
* Coupler set with shear protection

* Rugged 3/8” construction, powder coat painted pump stand
» Easy-align, adjustable gearbox bracket

MEC 5000 & 8000 Muffler Pak

All features included in the Pump Stand Complete plus:
* Compact design square oil catch muffler
» Effective baffle system
» Stainless steel mesh filter
¢ Drain valve
* All elbows, fittings and high temp hoses are factory connected

MEC 5000 & 8000 MAX Pak

All features included in the Muffler Pak plus:
* High efficiency aluminum moisture trap

* Accessible stainless steel floatball

* BUNA positive shut-off ball seat

* Drain valve

* Blind intake flange standard (other fittings available)
* Vacuum/pressure relief valve and gauge

MEC 5000 - 6500 - 8000 System Requirements

Moisture Trap - Minimum 4 gallon capacity Moisture Trap (a larger Primary Shutoff - Minimum 8” cage with 6” ball.

moisture trap may be required depending on volatility of product

being pumped) which we provide in carbon steel, stainless steel or 3" Relief Manifold - Easy inline installation, features vacuum relief,
aluminum. pressure relief, vacuum/pressure gauge and diesel flush port.

Qil Catch Muffler - 12" Diameter vertical.

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.2.3



Challenger ex

&

VACUUM PUMPS & BLOWERS

We design, build and service the best pumps and packages on the planet... And we do it in the USA.

For over 25 years NVE has been providing quality vacuum
system components to the liquid waste markets. From design,
to development to product support, NVE IS the industry leader.

In addition to our team of engineers and highly qualified support
staff, NVE has a state-of-the-art machine shop, fabrication shop,

and powder coat paint facility housed in two plants in Traverse City,

Michigan. We also have a warehouse and sales support facility in
Fayetteville Arkansas.

Battioni®
Pagani
Pompe

|\

DISTRIBUTED BY:

NVE

National Vacuum Equipment

P.O. Box 685 | Traverse City, Ml 49685 USA
231.941.0215 Phone | 231.941.2354 Fax

sales@natvac.com 800.253.5500

www.natvac.com

©2013 National Vacuum Equipment, Inc. | 2/2013

B.2.4 | Call for quantity pricing.

For questions and additional information please contact your dealer
or NVE direct at 800.253.5500.

Thank you,

NVE

National Vacuum Equipment

NVE 2013 Product Catalog | Rev. 7-4



Challenger ez

-

VACUUM PUMPS & BLOWERS

J

BATTIONI MEC 5000 & 8000 SERIES
PACKAGE GUIDE

MEC 5000 & 8000 PUMP STAND COMIPLETE

M
0 300-5000ALS1 MEC 5000 ALS CCW — fzﬁﬂ
QO 300-8000ALS1 MEC 8000 ALS CCW ‘E?‘ N %
34.60
22.10 24.10 ( 300-5000PALS J
2T
; L
] ]
[
17.96
MEC 5000 & 8000 MUFFFLER PACKAGE
1 300-5000ALS2 MEC 5000 Muffler Package
J 300-8000ALS2 MEC 8000 Muffler Package
O
24.10 — j U ‘
- o (? F‘DJ
22.10 ( E 7 )
i 17.96 20.90 24.10 !
L J
= )50
T !
26.22 o [

MEC 5000 & 8000 MAX PACKAGE

1 300-5000ALS3 MEC 5000 Max Package
1 300-8000ALS3 MEC 8000 Max Package
‘— 6.94 —
I === = [ 1
© — ] IL
22.10
19.93 17.59
g 8 — -
| 2341 — 8.26 —f

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.2.5



Battioni Pagani | MEC 5000 - 8000

NVE

MEC 5000 | Vacuum Pump
PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 5000 - Auto Lube CCW 300-5000PALS 253
MEC 8000 | Vacuum Pump
PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 8000 - Auto Lube CCW 300-8000PALS 321

MEC 5000 | Repair Kits and Maintenance Iltems
PRODUCT DESCRIPTION PART NUMBER WEIGHT
Repair Kit - MEC 5000/P 305-AMO-P 5.25
Repair Kit - MEC 5000/P (Less Bearings) 305-AMO-P-B 3.05
Repair Kit - MEC 5000/540 305-AMO 5.65
Repair Kit - MEC 5000/540 (Less Bearings) 305-AMO-B 6.8

MEC 6500

Repair Kits and Maintenance Items

PRODUCT DESCRIPTION PART NUMBER WEIGHT
Repair Kit - MEC 6500,/P 305-AMECO-P 5.6
Repair Kit - MEC 6500/P (Less Bearings) 305-AMECO-P-B 4.95
Repair Kit - MEC 6500/540 305-AMECO 435
Repair Kit - MEC 6500/540 (Less Bearings) 305-AMECO-B 315

MEC 8000

Repair Kits and Maintenance Items

PRODUCT DESCRIPTION PART NUMBER WEIGHT
Repair Kit - MEC 8000/P 305-AMEO-P 6.15
Repair Kit - MEC 8000/P (Less Bearings) 305-AMEO-P-B 4.2
Repair Kit - MEC 8000/540 305-AMEQO 6.8
Repair Kit - MEC 8000/540 (Less Bearings) 305-AMEO-B 6.8

natvac.com

Photos and illustrations for references only.

B.2.6 | Call for quantity pricing.

NVE 2013 Product Catalog | Rev. 7-4



Challenger em

VACUUM PUMPS & BLOWERS

MEC 5000 & 8000 | Pump Stand Complete

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 5000 Pump Stand Complete 300-5000ALS1 ---
MEC 8000 Pump Stand Complete 300-8000ALS1

MEC 5000 & 8000 | Muffler Package

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MEC 5000 Muffler Package 300-5000ALS2

MEC 8000 Muffler Package 300-8000ALS2

MEC 5000 & 8000 | Max Package

PRODUCT DESCRIPTION PART NUMBER WEIGHT

300-5000ALS3 ---
300-8000ALS3 .-

MEC 5000 Max Package
MEC 8000 Max Package

natvac.com

Package price includes counter clockwise vacuum pump. All elbows, fittings and high temp hoses are factory connected.

0008 - 000S DI | ueSed uomeg

NVE 2013 Product Catalog | Rev. 7-4

Call for quantity pricing. | B.2.7



NVE

0008 - 000S DA | Iueded ruomeg

weigelq sied | 0008 23N - 0059 93N - 000S AN

nly.

Photos and illustrations for references o

£
o
Q
%)
©
>
2
©
c

NVE 2013 Product Catalog | Rev. 7-4

B.2.8 | Call for quantity pricing.



Challenger eem

VACUUM PUMPS & BLOWERS

MEC 5000 - MEC 6500 - MEC 8000 | Parts List

ITEM PART NUMBER DESCRIPTION WEIGHT
1 310-AM51 BOLT M10X30 ===
2 310-AM50 WASHER, 10X40 -
3 310-AM54 BEARING COVER 2.0
4 310-AM56 BOLT M8X50 -—=
5 310-AM35 WASHER 8 —
6 310-AM49 GREASE FITTING, M10X1 .02
7 310-AM53 SEAL 35X52X10 .05
8 310-AM55 BEARING 6207 .60
10 310-AM48 BEARING 6208 .80
11 310-AM18 SEAL 48X62X8 .05
12 310-AM16 BOLT M10X30 -—=
13 310-AM17 WASHER 10 -—
14 310-AM3/P ENDPLATE, FRONT 15
15 310-AM4 GASKET .01
16 310-AM52 KEY 8X7X50 -
17 310-AM5/P ROTOR, MEC 5000 72

310-AME5/P ROTOR, MEC 8000 113

310-AMEC5/P ROTOR, MEC 6500 -
18 310-AM7 VANE, MEC 5000 .25

310-AMEC7 VANE, MEC 6500 .3

310-AME7 VANE, MEC 8000 40
19 310-AM1 HOUSING, MEC 5000 -—

310-AME1 HOUSING, MEC 8000 107

310-AMEC1 HOUSING, MEC 6500 -—
20 310-AM3 ENDPLATE, REAR 15
21 310-AM57 SPACER 80X70X 5 .18
22 310-AM13 GASKET .01
23 310-AM59 OIL PLUG M10X1 -
24 310-AM34 BOLT M8X25 -
25 310-AM63 FLANGE .20
26 310-AM83 3” HOSE CONNECTION 4.7
27 310-AM66 BOLT M10X40 .05
28 310-AM64 O-RING .01
29 310-AM68 4 WAY VALVE, COVER GASKET .01
30 310-AM65 4 WAY VALVE, COVER 1.9
31 310-AM40 SEAL 30-40-7 .01
32 310-AM11 BOLT M8X20 -—-
33 310-AM60 4-WAY VALVE, HANDLE 1.05

NVE 2013 Product Catalog | Rev. 7-4

natvac.com

Call for quantity pricing. | B.2.9

0008 - 000S DA | ueded ruomeg




o
S
S
©
o
S
S
| Ko}
Q
=
=
g
1)
T
A
- p—
=
=
b=t
<
M

NVE

MEC 5000 - MEC 6500 - MEC 8000 | Parts List Continued

ITEM PART NUMBER DESCRIPTION WEIGHT
34 310-AM45 SPRING .01
35 310-AM62 4-WAY VALVE, PLUG 2.95
36 310-AM67 4-WAY VALVE, COVER HOUSING 26.20
37 310-AM10 DIPSTICK .05
38 310-AM39 4-WAY VALVE, GASKET .01
39 310-AM41 NON-RETURN BALL 70MM .50

Photos and illustrations for references only.

natvac.com

B.2.10 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



Challenger ez

VACUUM PUMPS & BLOWERS

MEC 5000-MEC 6500-MEC 8000 Gear-Type Lubrication System | Parts Diagram

12

0008 - 000S DA | Iueded ruomeg

MEC 5000 - MEC 6500 - MEC 8000 | Parts List

ITEM PART NUMBER DESCRIPTION WEIGHT
1 310-AM13 GASKET .01
2 320-LF8 DRIVE TAB .03
3 320-LF7 OIL PUMP HOUSING .54
4 320-LF17 FITTING M6X1 .01
5 320-LF3 DRIVE GEAR .10
6 320-LF4 DRIVEN GEAR .06
7 310-LF2 COVERPLATE GASKET .01
8 320-LF1 COVERPLATE .05
9 310-LP6 BOLT -—-
10 320-LF15 HOSE (5MM X 10.5MM X 6.75MM) .05
11 320-LF13 FITTING, HOUSING OIL RESERVOIR .01
12 320-LF20 HOSE (5MM X 10.5MM X 18.5MM) .05
13 320-LF12 DRIPPER, T-TYPE CW .25

320-LF12CCW DRIPPER, T-TYPE CCW -—
14 320-LF19 HOSE (5MM X 10.5MM X 8.5MM) .05

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.2.11



NVE

MEC 5000 Automatic Lubrication System | Parts Diagram

=
S
S
o
=
S
S
LN
Q
=
=
e
&
&
=¥
=
_E
<
/M

MEC 5000 Automatic Lubrication System | Parts List

ITEM PART NUMBER DESCRIPTION WEIGHT
1 310-AM13 GASKET .01
2 310-AM49 FITTING .02
3 320-LW32CD PISTON LUBRICATOR - SINGLE OUTLET CW 1.32

320-LW32CS PISTON LUBRICATOR - SINGLE OUTLET CCW 1.30
6 320-R37 FITTING .03
7 320-R34 BOLT -—-

320-LA13 HOSE (2MM X 4MM X 18.5MM) .01

320--LA11 HOSE (4MM X 6MM X 9.5MM) .01
10 320-R15 FITTING .01
11 320-R46 FITTING .05
12 320-LF8 DRIVE TAB .03
13 310-LA1 BEARING COVER -
14 320-R31 GASKET .01
15 320-R33 WASHER -—=

Photos and illustrations for references only.

natvac.com

B.2.12 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



Challenger ez

VACUUM PUMPS & BLOWERS

MEC 6500 - 8000 Automatic Lubrication System | Parts Diagram

4 18 I_\.w-ﬂ —
IS K S §
k = '. } a

N4 )]

"\] i
— 10
L
12 :

0008 - 000S DA | Iueded ruomeg

4
1 -L 2 *l
\. :
MEC 6500 - 8000 Automatic Lubrication System | Parts List

ITEM  PART NUMBER DESCRIPTION WEIGHT
1 320-R15 FITTING 4MMX90 .01
2 310-LB18 cLIP 01
3 310-LB8 SCREW —
4 320-LB16 HOSE (2MM X 4MM X 27.25MM) .01
5 320-LB17 HOSE (2MM X 4MM X 11.50MM) .01
6 320-R3 FITTING M5X4 01
7 320-R35 FITTING 8X1X30 .05
8 320-R37 FITTING 1/8X6X90 .03
9 320-R36 FITTING 8X1X20 .01
10 320-LW32D OIL PUMP 2 PORT CW 131
320-LW32S OIL PUMP 2 PORT CCW 125

11 310-AM49 GREASE FITTING M10X1 .02
12 320-LF8 DRIVE TAB .03
13 310-AM13 GASKET 01
14 310-LB1 BEARING COVER 15
15 320-R31 GASKET, OIL PUMP .01
16 320-R33 WASHER 6 .
17 320-R34 BOLT M6X16 .
18 320-LB11 HOSE (4AMMX6MMX10.25MM) .01
19 320-R37-1 FITTING .01

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.2.13



NVE

natvac.com

B.2.14 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



A Partnership for:Success

Battioni®
Pagani
Pompe

EL
lw
&'
&

VACUUM, /PRESSURE R JM]_,.J—j

MECII 11000 - 394 CFM @1400 RPM
FOR MAX AIRFLOW

MECII 9000 - 320 CFM @1500 RPM
FOR MAX AIRFLOW

COMMERCIAL DUTY

BALLAST PORT COOLED

CONTINUOUS DUTY AT 18” HG MECII 9000
CRASH PROTECTION

AUTOMATIC LUBRICATION

BUILT-IN OIL RESERVOIR

THERMO TAPE

VANE INSPECTION PORT

BUILT-IN MANIFOLD FOR

PRESSURE RELIEF

Challenger
* TEAAM MECII 11000

g
H
]

National Vacuum Equipment Arkansas Distribution Center
P.O. Box 685 1612 Warehouse Drive

Traverse City, Ml 49685 USA Fayetteville, AR 72701
800-253-5500 | sales@natvac.com 479-409-7331, 479-409-6748 | Fax 479-444-8211

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.3.1



Battioni Pagani Pumps

Battioni Pagani, S.p.A., of Sorbolo, Italy, is the world’s largest volume manufacturer of rotary vane vacuum pumps for liquid waste
handling applications. They have been able to achieve this stature by producing well-designed, precisely-machined, and carefully
assembled products which have gained a worldwide reputation for rugged reliability.

MECII 9000/P Specifications

MECII 9000

RPM Range 800-1400 Dimensions: 15.5” W x 22" L x 20" H
Maximum Air Flow-CFM 320 Shaft Size: 32 mm
Maximum Intermittent Vacuum 27
Maximum Intermittent Pressure 30
Pump Drive Rotation Cw/CCwW
Porting Size Flanged NPT 3”
Manifold With Four Way Valve Standard
Bearings Sealed From Pump Interior Standard
Anti-Spin Check Valve Standard
Automatic Lubrication System Optional
Oil Tank Capacity-Quarts 21/2
Net Weight 289 lbs
OPERATING FREE
SPECS PRESSURE (PSI) FLOW VACUUM (INCHES OF MERCURY)
RPM UoMm 30 25 20 15 10 5 0 6 9 12 15 18 21 24 27
1400 HP 24 20 17 14 9 6 5.5 6 9 11 13.5 16 18 20 22
CFM 297 301 305 309 312 315 320 316 276 230 184 140 95 49 5
1200 HP 20 17 14 12 8 5 4 5 7 9 11 13 15 17 19
CFM 266 271 276 | 280 283 | 286 289 287 247 208 170 128 86 43 4
1000 HP 16 13 11 9 6 4 3.5 4 5 6 8 9 11 13 15
CFM 212 218 223 228 231 234 236 233 189 163 138 104 70 35 3

MECII 11000/P Specifications

RPM Range 800-1400 MECII 11000

Maximum Air Flow-CFM 394 Dimensions: 15.5” W x 25” L x 20" H
Shaft Size: 32 mm

Maximum Intermittent Vacuum 27
Maximum Intermittent Pressure 30
Pump Drive Rotation CW/CCW
Porting Size Flanged NPT 3”
Manifold With Four Way Valve Standard
Bearings Sealed From Pump Interior Standard
Anti-Spin Check Valve Standard
Automatic Lubrication System Optional
Oil Tank Capacity-Quarts 21/2
Net Weight 322 Ibs
OPERA =
oR OF (P 0 SCUR
P O
RPM uom 30 25 20 15 10 5 0 6 9 12 15 18 21 24 27
1400 HP 27 23 19 16 10 7 5.5 8 9 13 15 16 19 23 26
CFM 374 377 379 381 386 392 394 384 340 261 219 165 111 57 5
1200 HP 24 21 17 14 9 6 4 7 8 10 12 14 17 20 23
CFM 331 | 336 | 341 | 346 | 349 | 352 | 353 346 | 314 | 243 | 205 | 156 | 107 54 4
1 HP 21 18 14 11 6 4 3.5 4 5 7 10 12 14 17 19
000
CFM 265 272 279 286 293 299 300 289 244 194 173 131 89 47 3

The maximum allowable operating vacuum will vary depending on R.P.M., ambient temperature, altitude and time
running. The basic principle to keep in mind is - faster R.P.M., higher air temperature and longer run time all equal more
heat in the pump.



Battioni Pagani Pumps and Packages

Check out our competent design and engineering staff, our state of the art fabrication facility and quality powder coat painting
capabilities all wrapped up in our unique pump packages. Each package is built around our quality Challenger vacuum pumps.
These rugged and functional packages are designed to reduce installation time, ensure appropriate sized drive systems and
vacuum system components, and provide accessible maintenance points. If you don’t see what you are looking for, be sure to

contact your NVE representative... We Can Do That!

VACUUM PUMP INCLUDED. Specify direction of rotation, cooling type and muffler location (right or left). All elbows, fittings and high temp hoses are factory connected.

MECII 9000 & 11000 Pump Stand Complete

* 400 series three-shaft gearbox accommodates CW and CCW rotation

* Coupler set with shear protection
* Rugged 3/8” construction, powder coated pump stand
* Easy-align, adjustable gearbox bracket

MECII 9000 & 11000 Muffler Pak
¢ Powder Coated/Paint Finish

* Reduces Labor Costs

* Reduces Engine Costs

¢ Increase Your Capacity

MECII 9000 & 11000 System Requirements

Moisture Trap - Minimum 4 gallon capacity Moisture Trap (a larger
moisture trap may be required depending on volatility of product
being pumped) which we provide in carbon steel, stainless steel or
aluminum.

Oil Catch Muffler - 8” Diameter vertical.

Primary Shutoff - Minimum 8” cage with 6” ball.

2" Relief Manifold - Easy inline installation, features vacuum relief,
pressure relief, vacuum/pressure gauge and diesel flush port.



Challen

1

VACUUM PUMPS & BLOWERS

We design, build and service the best pumps and packages on the planet... And we do it in the USA.

For over 25 years NVE has been providing quality vacuum
system components to the liquid waste markets. From design,
to development to product support, NVE IS the industry leader.

In addition to our team of engineers and highly qualified support
staff, NVE has a state-of-the-art machine shop, fabrication shop,

and powder coat paint facility housed in two plants in Traverse City,

Michigan. We also have a warehouse and sales support facility in
Fayetteville Arkansas.

Battioni®
Pagani
Pompe

|\

DISTRIBUTED BY:

NVE

National Vacuum Equipment

P.O. Box 685 | Traverse City, Ml 49685 USA
231.941.0215 Phone | 231.941.2354 Fax

sales@natvac.com 800.253.5500

www.hatvac.com

©2013 National Vacuum Equipment, Inc. | 2/2013

B.3.4 | Call for quantity pricing.

For questions and additional information please contact your dealer
or NVE direct at 800.253.5500.

Thank you,

NVE

National Vacuum Equipment

NVE 2013 Product Catalog | Rev. 7-4



Challenger ez

VACUUM PUMPS & BLOWERS

J

BATTIONI MECII 9000 & 11000 SERIES
PACKAGE GUIDE

MECII 9000 & NO0O0 PUMP STAND COMPLETE

2 302-9000D1 MECII 9000 Pump Stand Complete
2 302-11000D1 MECII 11000 Pump Stand Complete
T 35.48
|
( ﬁ o ( ?) U 24'10 | il
= = 22.10 { J
b 0 :
‘f}rﬁﬂ 0 \ L@
[ Bl . J
i il e-p T
7 L] | L.
T T
( hpig o 17.96
MECII 9000 & N1000 MUFFLER PACKAGE n
AT
2 302-9000D2 MECII 9000 Muffler Package - ‘
1 302-11000D2 MECII 11000 Muffler Package %DEL
35.48
24.10 ‘
9 [
T
. ;
-
L.
25.43 F
— = 25.06
22.10
17.96

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.3.5



NVE

MECII 9000 & 11000 | Vacuum Pumps

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MECII 9000 Ballast Cooled CCW 302-9000S ---
MECII 11000 Ballast Cooled CCW 302-11000S ---

=)
S
=)
v
v
3
=)
S
S
&
Q
=
=,
E
&
A
i=
_§
T
=4}

MECII 9000 | Repair Kits and Maintenance ltems

PRODUCT DESCRIPTION PART NUMBER WEIGHT
Repair Kit - MEC 9000/P 305-AMO-P 5.25
Repair Kit - MEC 9000/P (Less Bearings) 305-AMO-P-B 3.05
Repair Kit - MEC 9000/540 305-AMO 5.65
Repair Kit - MEC 9000/540 (Less Bearings) 305-AMO-B 6.8

MECII 11000 | Repair Kits and Maintenance ltem:

PRODUCT DESCRIPTION PART NUMBER WEIGHT
Repair Kit - MEC 11000/P 305-AMECO-P 5.6
Repair Kit - MEC 11000/P (Less Bearings) 305-AMECO-P-B 4.95
Repair Kit - MEC 11000/540 305-AMECO 4.35
Repair Kit - MEC 11000/540 (Less Bearings) 305-AMECO-B 3.15

Photos and illustrations for references only.

natvac.com

B.3.6 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



Challenger ez

VACUUM PUMPS & BLOWERS

Package price includes counter clockwise vacuum pump. All elbows, fittings and high temp hoses are factory connected.

MECII 9000 & 11000 | Pump Stand Complete

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MECII 9000 - Pump Stand Complete 302-9000D1 ---
MECII 11000 - Pump Stand Complete 302-11000D1 ---

MECII 9000 & 11000 | Muffler Package

PRODUCT DESCRIPTION PART NUMBER WEIGHT
MECII 9000 Muffler Package 302-9000D2 ---
MECII 11000 Muffler Package 302-11000D2 ---

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.3.7

000TT % 0006 DA | Iueded ruomeq




NVE

Parts Diagram

MEC 9000/P & 11000/P

Photos and illustrations for references only.

natvac.com

B.3.8 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



Challenger em

VACUUM PUMPS & BLOWERS

MEC 9000 & 11000/P | Parts List

ITEM PART NUMBER DESCRIPTION ITEM PART NUMBER DESCRIPTION

000TT % 0006 DA | ruesed ruomegq

natvac.com

NVE 2013 Product Catalog | Rev. 7-4 Call for quantity pricing. | B.3.9



NVE

natvac.com

B.3.10 | Call for quantity pricing. NVE 2013 Product Catalog | Rev. 7-4



